



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right)^2 + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{5}\right)^0 - \frac{3}{5} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{1}{5} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{2}{5} =$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{2} =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$\left(-\frac{1}{3}\right)^{(-2)} - \left(-\frac{1}{4}\right) = \frac{37}{4} = 9\frac{1}{4}$$

$$\left(-\frac{3}{4}\right)^{(-2)} + \left(-\frac{1}{6}\right) = \frac{29}{18} = 1\frac{11}{18}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{3}{4} = \frac{31}{36}$$

$$\left(-\frac{1}{3}\right)^2 + \frac{2}{5} = \frac{23}{45}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{5}\right) = \left(-\frac{12}{5}\right) = \left(-2\frac{2}{5}\right)$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{2}{5} = \frac{32}{5} = 6\frac{2}{5}$$

$$\left(-\frac{1}{3}\right)^{(-2)} - \frac{1}{3} = \frac{26}{3} = 8\frac{2}{3}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(\frac{1}{3}\right)^2 - \left(-\frac{1}{2}\right) = \frac{11}{18}$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{2}{5} = \frac{78}{5} = 15\frac{3}{5}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{3}\right) = \frac{7}{12}$$

$$\left(-\frac{3}{5}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{1}{2} = \frac{23}{4} = 5\frac{3}{4}$$

$$\left(-\frac{1}{3}\right)^{(-2)} + \frac{1}{2} = \frac{19}{2} = 9\frac{1}{2}$$

$$\left(\frac{1}{2}\right)^{(-1)} + \left(-\frac{3}{5}\right) = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^{(-2)} + \frac{1}{5} = \frac{181}{5} = 36\frac{1}{5}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{1}{6}\right)^2 - \frac{1}{4} = \left(-\frac{2}{9}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} + \frac{2}{5} = \left(-\frac{8}{5}\right) = \left(-1\frac{3}{5}\right)$$

$$\left(-\frac{3}{5}\right)^{(-1)} - \frac{1}{2} = \left(-\frac{13}{6}\right) = \left(-2\frac{1}{6}\right)$$